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THE ACCOUNTANT’S ROLE
IN THE ORGANIZATION

Modern cost management empha-
sizes the role of research and devel-
opment and product design as well
as other areas of the value chain
such as production and marketing.
Textron uses “Integrated Product
Teams” with members from all
areas of the value chain at its Bell-
Boeing Aircraft facility to reduce
product costs and aircraft weight
while increasing quality.

0.

LEARNING OBJECTIVES

After studying this chapter, you should be able to

[dentify five broad purposes of accounting systems
ljcﬁt'f‘il'u: COsl :'tL'['_'{}lli‘HiI'i‘E_l ;1[111 IS J‘L:]:‘l{_iiin'l.'ihip (8]
management accounting and financial accounting
Describe the set of business functions in a value chain
Understand how accounting can facilitate planning,
control, and decision making

Describe the difference between line management and
staff management

Distinguish among the scorekeeping, attention-directing,
and problem-solving functions of the controller
Understand the importance of professional ethies to
management accountants

Describe evoly g management themes that are shaping

developments in management accounting systems
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CHAPTER 1

1-9

1-13

1-14

1-15

to your associates your ability to identify the opportunities—to identify the
wealth-producing characteristics.” Do you agree? Explain.

As a new controller, reply to this comment by a plant manager: “As I see it,
our accountants may be needed to keep records for stockholders and Uncle
Sam—Dbut I don’t want them sticking their noses in my day-to-day opera-
tions. | do the best I know how. No pencil-pushing bean-counter knows
enough about my responsibilities to be of any use to me.”

As used in accounting, what do IMA and CMA stand for?

Name the four areas in whichstandards of ethical conduct exist for manage-
ment accountants in the United States. What organization sets forth these
standards?

What steps should a management accountant take if established written
policies provide insufficient guidance on how to handle an ethical conflict?
When explaining a motor vehicle market-share turnaround, General Mo-
tors stated: “We listened to what our customers wanted and acted on what
they said. Good things happen when you pay attention to the boss.” How
might management accountants at General Motors apply this same perspec-
tive to their own tasks?

A leading management observer stated that the most successful companies
are those who have an obsession for their customers. Is this statement perti-
nent to management accountants? Explain.

Changes in the way managers operate require rethinking the design and op-
eration of management accounting systems. Describe five themes that are
affecting both the way managers operate and developments in management
accounting.

EXERCISES

1-16

1-17

1-18

Financial and management accounting. David Colhane, an able electrical
engineer, was informed that he was going to be promoted to assistant plant
manager. David was elated but uneasy. In particular, his knowledge of ac-
counting was sparse. He had taken one course in financial accounting but
had not been exposed to the management accounting that his superiors
found helpful.

Colhane planned to enroll in a management accounting course as soon
as possible. Meanwhile, he asked Susan Hansley, an assistant controller, to
state two or three of the principal distinctions between financial and man-
agement accounting using some concrete examples.

As the assistant controller, prepare a written response to Colhane.

Purposes of accounting systems. The International Sports Management

Group (ISMG) manages and promotes sporting events and sporting person-

alities. Its managers are currently examining the following reports and ac-

counting statements:

a. Five-year projections for expanding into managing sports television net-
works for cable television.

b. Income statement to be included in a six-month interim report to be sent
to investors and filed with the Securities & Exchange Commuission.

c. Profitability comparison of golf tournaments directed by ditferent man-
agers, each of whom receives a percentage of that tournament’s profits.

d. Monthly reports of office costs for each of the 14 ISMG offices world-
wide.

e. Statement showing the revenues ISMG earns from different types of
sporting events (for example, golf, motor racing, and tennis).

REQUIRED

Classifv the reports in parts a—e into one of the five major purposes of account-

ing systems (on p. 2).

Purposes of accounting systems. Managers at Coca-Cola are examining

the following reports and accounting statements:

TERADATA, Ex. 1013, p. 47
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1-19

1-20

1-21

a. Report on the profitability of Minute Maid Orange Juice in different re-
gions; regional managers receive a bonus based on region profitability.

b. Consolidated balance sheet to be reported in the Annual Report to in-
vestors.

c. Ten-year projections of revenues, costs, and investments for entering into
joint venture agreements in the new Russian republics.

d. Monthly manufacturing cost report of the Toronto bottling plant.

e. Report comparing profitability of soft drink sales in retail outlets, fast-
food franchises, and sporting stadium vendors for most recent month.

REQUIRED

1. Classify the reports in parts a—e into one of the five major purposes of ac-
counting systems (p. 2).

2. How might a report developed for the financial-reporting purpose differ
from a report for one of the four management accounting purposes? Il-
lustrate by referring to two of the Coca-Cola reports in parts a—e.

Value chain and classification of costs, computer company. Apple Com-

puter incurs the following costs:

a. Electricity costs for the plant assembling the Macintosh computer line of
products.

b. Transportation costs for shipping Macintosh software to a retail chain.

c. Payment to David Kelley Designs for design of the Powerbook carrying
case.

d. Salary of a computer scientist working on the next generation of mini-
computers.

e. Cost of Apple employees’ visit to a major customer to illustrate Apple’s
ability to interconnect with other computers.

f. Purchase of competitors’ products for testing against potential future
Apple products.

g. Payment to a television station for running Apple advertisements.

h. Cost of cables purchased from an outside supplier to be used with the
Macintosh printer.

REQUIRED

Classify each of the cost items in parts a-h into a component of the value

chain shown in Exhibit 1-1 (p. 4).

Value chain and classification of costs, pharmaceutical company.
Merck, a large pharmaceutical company, incurs the following costs:
a. Cost of redesigning blister packs to make drug containers more tamper-
proof.
b. Cost of videos sent to doctors to promote sales of a new drug.
c. Costof a toll-free telephone line used for customer inquiries about usage,
side effects of drugs, and so on.
d. Equipment purchased by a scientist to conduct experiments on drugs yet
to be approved by the government.
. Payment to actors on infomercial to be shown on television promoting
new hair-growing product for balding men.
Labor costs of workers in the packaging area of a production facility.
. Bonus paid to a salesperson for exceeding monthly sales quota.
. Cost of Federal Express courier service to deliver drugs to hospitals.
KFEOUIRED

w

= g9 ™M

Classify each of the cost items in parts a—h into a component of the value chain
shown in Exhibit 1-1 (p. 4).

Uses of feedback. Six uses of feedback are described in the chapter (p. 6):
a. Changing goals.

b. Searching for alternative means of operating.

c. Changing methods for making decisions.

d. Making predictions.

e. Changing the operating process.

f. Changing the reward system.

THE ACCOUNTAMT

IN THE
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CHAPTER 1

1-22

1-23

REQUIRED
Match the appropriate letters from the preceding list to each of the follow-
Ing 1tems.

1.

The California State University system explores subcontracting its gar-
dening operations to a private company instead of hiring its own gar-
deners.

Sales commissions are to be based on total operating income instead of
total revenue.

The Ford Motor Company adjusts its elaborate way of forecasting de-
mand for its cars by including the effects of expected changes in the price
of crude oil.

The hiring of new sales personnel will include an additional step: an in-
terview and evaluation by the company psychologist.

Quality inspectors at General Motors are now being used in the middle
of the production process as well as at the end of the process.

Procter & Gamble enters the telecommunications industry.

Worker assignments on an assembly line are made by teams instead of di-
rected by a foreman.

Scorekeeping, attention directing, and problem solving. For each of the
following activities, identify the major function (scorekeeping, attention di-
recting, or problem solving) the accountant is performing.

a.

b.

je

Preparing a monthly statement of Australian sales for the IBM marketing
vice president.

Interpreting differences between actual results and budgeted amounts on
a performance report for the customer warranty department of General
Electric.

Preparing a schedule of depreciation for forklift trucks in the receiving
department of a Hewlett Packard plant in Scotland.

Analyzing, for a Mitsubishi international manufacturing manager, the de-
sirability of buying some auto parts made in Korea.

Interpreting why a Birmingham distribution center did not adhere to its
delivery costs budget.

Explaining a Xerox shipping department’s performance report.
Preparing, for the manager of production control of a U.S. steel plant, a
cost comparison of two computerized manufacturing control systems.
Preparing a scrap report for the finishing department of a “Toyota parts
plant.

Preparing the budget for the maintenance department of Mount Sinai
Hospital.

Analyzing, for a General Motors product designer, the impact on product
costs of some new headlight lamps.

Scorekeeping, attention directing, and problem solving. For each of the
following activities, identify the major function the accountant is perform-
ing—scorekeeping, attention directing, or problem solving.

a.

b.

C.

Interpreting differences between actual results and budgeted amounts
on a shipping manager’s performance report at a Daewoo distribution
center.

Preparing a report showing the benefits of leasing motor vehicles versus
owning them.

Preparing adjusting journal entries for depreciation on the personnel
manager’s office equipment at Citibank.

Preparing a customer’s monthly statement for a Sears store.

Processing the weekly payroll for the Harvard University maintenance
department.

Explaining the product-design manager’s performance report at a
Chrysler division.

Analyzing the costs of several different ways to blend materials in the
foundry of a General Electric plant.

Tallying sales, by branches, for the sales vice president of Unilever.
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1-24

i. Analyzing, for the president of Microsoft, the impact of a contemplated
new product on net income.

j. Interpreting why an IBM sales district did not meet its sales quota.

Changes in management and changes in management accounting. A

survey on ways organizations are changing their management accounting

systems reported the following:

a. Companv A now reports a value-chain income statement for each of the
brands it sells.

b. Company B now presents in a single report all costs related to achieving
high quality levels of its products.

¢. Company C now presents estimates of the manufacturing costs of its two
most important competitors in its performance reports, in addition to its
own internal manufacturing costs.

d. Company D reduces by 1% each month the budgeted labor-assembly
cost of a product when evaluating the performance of a plant manager.

e. Company E now reports profitability and satisfaction measures (as as-
sessed by a third party) on a customer-by-customer basis.

REQUIRED

Link each of the above changes to one of the key themes in the new man-

agement approach outlined in Exhibit 1-7 (p. 13).

PROBLEMS

1-25

1-26

Planning and control, feedback. In April 19 7, Naomi Campbell, editor
of The Daily Sporting News (DSN), decides to reduce the price per newspa-
per from $0.70 in April 19_7 to $0.50 starting May 1, 19_7. Actual paid cir-
culation in April is 7.5 million (250,000 per day x 30 days). Campbell esti-
mates that the $0.20 price reduction would increase paid circulation in May
to 12.4 million (400,000 x 31 days). The actual May circulation turns out to
be 13,640,000 (440,000 x 31 days). Assume that one goal of DSN is to in-
crease operating income. 'he budgeted increase in circulation would enable
DSN to charge higher advertising rates in later months of 19_7 if those bud-
geted gains actually occur. The acrual price paid in May 19_7 was the bud-
geted $0.50 per newspaper.
REQUIRED
1. Distinguish between planning and control at DSN, giving an example of
each.
2. Prepare a newspaper revenue performance report for DSN for May 19_7
showing the actual results, budgeted amounts, and the variance.
3. Give two types of action Campbell might rake based on feedback on the
May 19_7 circulation revenue.
Responsibility for analysis of performance. Karen Phillipson is the new
corporate controller of a multinational company that has just overhauled its
organizational structure. The company is now decentralized. Each division
is under an operating vice president who, within wide limits, has responsibil-
ities and authority to run the division like a separate company.

Pl‘lllhpmn has a number of bright staff members. One of them, Bob
Garrett, 1s in charge of a newly created performance-analysis staff. Garrett
and staff members prepare monthly division pf:['fmrnanL reports for the
company president. These reports are division income statements, showing
buclgcred performance and actual results, and they are accompanied by de-
tailed written explanations and appraisals of variances. In the past, each of
Garrett’s staff members was responsible for analyzing one division; each
consulted with division line and staff executives and became generally ac-
quainted with the division’s operations. '

After a few months, Bill Whisler, vice ;}|unh_n[ in charge of Division
C, stormed into the controller’s office. The gist of his complaint follows:

“Your staff is trying to take over part of my responsibility. They come
in, snoop around, ask hundreds of questions, and take up plenty of our time.

THE ACCOUNTANT'S ROLE |
IN THE ORGANIZATION . ﬂ
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[t’s up to me, not you and your detectives, to analyze and explain my divi-
sion’s performance to central headquarters. If you don’t stop trying to grab
my responsibility, I'll raise the whole issue with the president.”

REQUIRED

1. What events or relationships may have led to Whisler’s outburst?

2. As Phillipson, how would you answer Whisler’s contentions?

3. What alternative actions can Phillipson take to improve future relation-
ships?

1-27 Professional ethics and reparting divisional performance. Marcia Miller
is division controller and Tom Maloney is division manager of the Ramses
Shoe Company. Miller has line responsibility to Maloney, but she also has
staff responsibility to the company controller.

Maloney is under severe pressures to achieve budgeted division income
for the vear. He has asked Miller to book $200,000 of sales on December 31.
The customers” orders are firm, but the shoes are still in the production
process. They will be shipped on or about January 4. Maloney said to Miller,
“The key event is getting the sales order, not shipping of the shoes. You
should support me, not obstruct my reaching division goals.”

REQUIRED

1. Describe Miller’s ethical responsibilities.

2. What should Miller do if Maloney gives her a direct order to book the
sales?

1-28 Software procurement decision, ethics. Jorge Michaels is the Chicago-
based controller of Fiesta Foods, a rapidly growing manufacturer and mar-
keter of Mexican food products. Michaels is currently considering the pur-
chase of a new cost management package for use by each of its six
manufacturing plants and its many marketing personnel. There are four
major competing products being considered by Michaels.

Horizon 1-2-3 is an aggressive software developer. It views Fiesta as a
target of opportunity. Every 6 months Horizon has a 3-day user’s conference
in a Caribbean location. Each conference has substantial time left aside for
“rest and recreation.” Horizon offers Michaels an all-expenses-paid visit to
the upcoming conference in Cancun, Mexico. Michaels accepts the offer be-
lieving that it will be very useful to talk to other users of Horizon software.
He is especially looking forward to the visit as he has close relatives in the
Cancun area.

Prior to leaving, Michaels received a visit from the president of Fiesta.
She shows him an anonymous letter sent to her. It argues that Horizon is re-
ceiving unfair favorable treatment in the Fiesta software decision-making
process. The letter specifically mentions Michaels” upcoming “all-expenses-
paid trip to Cancun during Chicago’s deep winter.” Michaels is deeply of-
fended. He says he has made no decision and believes he is very capable of
making a software choice on the merits of each product. Fiesta currently
does not have a formal written code of ethics.

REOQUIRED

1. Do you think Michaels faces an ethical problem as regards his forthcom-

ing visit to the Horizons user’s group meeting? Refer to Exhibit 1-5 (p. 10).
Explain.

. Should Fiesta allow executives to attend user’s meetings while negotiat-
ing with other vendors about a purchase decision? Explain. If yes, what
conditions on attending should apply?

3. Would you recommend Fiesta develop its own code of ethics to handle
situations such as this one? What are the pros and cons of having such a
written code?

1-29 Professional ethics and end-of-year games. Janet Taylor is the new divi-
sion controller of the snack foods division of National Foods. National
Foods has reported a minimum 15% growth in annual earnings for each of

I
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24 | cuapter:

Commission, Business Week, Forbes, Fortune, and all members of Broad
Street’s board of directors.

Sincerely,

Concerned Exemployee

INSTRUCTIONS

Form groups of three or more students. One is to be the chief financial offi-
cer, one the president, and one the chairman of the board of directors. Other
members are on the board of directors.

REQUIRED .

Develop a group consensus on how you should respond to this letter. Should
BSF formalize a code of ethics statement? Like many firms in the financial
services industry, it has no formal code of ethics.
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AN INTRODUCTION TO
COST TERMS AND PURPOSES

Many costing systems have multiple
cost objects. Managers at a factory
can collect costs for their mass-
produced products (such as globes),
for the assembly plant, and for cus-
tomers who have globes custom
assembled at the plant.

LEARNING OBJEC

After studying this chapter, you should be able to

s tod Bd

0.

|

Define and illustrate a cost object

Distinguish between direct costs and indirect costs
Explain cost drivers, variable costs, and fixed costs
Understand why unit costs must be interpreted with
caution

Distinguish among service-sector, merchandising-
sector, and manufacturing-sector companies
Ditferentiate between capitalized costs and noncapital-
ized costs

Describe the three categories of inventories commonly
found in many manufacturing-sector companies
Explain how different ways of computing product costs
are appropriate for different purposes
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CHAFTER 2

2-12

2-13

Distinguish between capitalized costs and noncapitalized costs. Give an example
of each from the service, merchandising, and manufacturing sectors.

What are the three major categories of the inventoriable costs of a manufac-
tured product?

Define the following: direct materials costs, direct manufacturing labor costs, in-
direct manufacturing costs, prime costs, and conversion costs.

Define product costs. Describe three different purposes for computing prod-
uct costs.

EXERCISES

2-16

Total costs and unit costs. A student association has hired a musical group

for a graduation party. The cost will be a fixed amount of $4,000.

REQUIRED

1. Suppose 500 people attend the party. What will be the total cost of the
musical group? The unit cost per person?

2. Suppose 2,000 people attend. What will be the total cost of the musical
group? The unit cost per person?

3. For prediction of total costs, should the manager of the party use the unit
cost in requirement 1? The unit cost in requirement 2?2 What is the
major lesson of this problem?

2-17 Total costs and unit costs. Nathan Brown is a well-known motivational

speaker. The St. George Speaker’s Bureau wants Brown to be the sole
speaker at an all-day seminar. Brown’s agent offers St. George the choice of
three possible fee arrangements:

® Schedule 1: $8,000 fee
® Schedule 2:  $20 per person + $2,000 fixed fee
@ Schedule 3:  $50 per person

Each attendee will be charged a $200 fee for the all-day seminar.

REQUIRED

1. What is St. George’s fixed cost and variable cost for hiring Brown under
each alternative schedule?

2. For each schedule, compute the total cost and unit cost per seminar attendee
if (a) 50 attend, (b) 200 attend, and (c¢) 500 attend. Comment on the results.

2-18 Total costs and unit costs. Golden Holidays markets vacation packages to

Honolulu from Los Angeles. The package includes a round-trip flight on

Global Airways. Golden Holidays pays Global $60,000 for each round-trip

flight. The maximum load on a flight is 300 passengers.

REQUIRED

1. What is the unit cost to Golden Holidays of each passenger on a Global
Airways round-trip flight if there are (a) 200, (b) 250, or (c) 300 passengers?

2. What role can the unit-cost figures per passenger computed in require-
ment | play when Golden Holidays is predicting the total air-flight costs
to be paid next month for Global Airways carrying 4,000 passengers on
15 scheduled round-trip flights?

Cost drivers and the value chain. A Johnson & Johnson analyst is prepar-

ing a presentation on cost drivers at its pharmaceutical drug subsidiary. Un-

fortunately, both the list of its business function areas and the accompanying

list of representative cost drivers is accidentally randomized. The two lists

now on the computer screen are as follows:

BUSINESS FUNCTION AREA REPRESENTATIVE COST DRIVER

A. Production [. Minutes of television advertising
tme on “60 Minutes”

B. Research and Development 2. Number of calls to toll-free cus-
tomer phone line
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C. Marketing 3. Hours Tylenol packing line in

operation

D. Distribution 4. Number of packages shipped

E. Design of Products/Processes 5. Hours spent designing tamper-
proof bottles

E. Customer Service 6. Number of patents filed with gov-

ernment agency

REQUIRED

1. Match each business function area with its representative cost driver.

2. Give a second example of a cost driver for each of the business functions
of Johnson & Johnson’s pharmaceutical drug subsidiary.

Cost drivers and the value chain. A Toyota analyst is preparing a presenta-

ton on cost drivers. Unfortunately, both the list of its business function

areas and the accompanying list of representative cost drivers is accidentally

randomized. The two lists now on the computer screen are as follows:

BUSINESS FUNCTION AREA REPRESENTATIVE COST DRIVER

A. Design of Products/Processes 1. Number of cars recalled for defec-
tive parts

B. Customer Service 2. Number of machine assembly hours

C. Marketing 3. Number of research scientists

D. Research and Development 4. Hours of computer-aided design
(CAD) work

E. Distribution 5. Number of sales personnel

E. Producton 6. Weight of cars shipped

REQUIRED

1. Match each business function area with its representative cost driver.
2. Give a second example of a cost driver for each of the business function
areas of Toyota.

Variable costs and fixed costs. Consolidated Minerals (CM) owns the
rights to extract minerals from beach sands on Fraser Island. CM has costs
in three areas:

a. Payment to a mining subcontractor who charges $80 per ton of beach
sand mined and returned to the beach (after being processed on the
mainland to extract three minerals—ilmenite, rutile, and zircon).

b. Payment of a government mining and environmental tax of $50 per ton
of beach sand mined.

c¢. Payment to a barge operator. This operator charges $150,000 per month
to transport each batch of beach sand—up to 100 tons per batch per day
to the mainland and then return to Fraser Island (that is, 0-100 tons per
day = $150,000 per month; 101-200 tons = $300,000 per month, and so
on). Each barge operates 25 days per month. The $150,000 monthly
charge must be paid even if less than 100 tons are transported on any day
and even if Consolidated Minerals requires fewer than 25 days of barge
transportation in that month.

CM 1s currently mining 180 tons of beach minerals per day for 25
days per month.

REQUIRED

1. What is the variable cost per ton of beach sand mined? What is the fixed
cost to CM per month?

2. Plot one graph of the variable costs and another graph of the fixed costs
of CM. Your plots should be similar to Exhibits 2-4 and 2-5. Is the con-
cept of relevant range applicable to your plots?

3. What is the unit cost per ton of beach sand mined (a) if 180 tons are
mined each day, or (b) if 220 tons are mined each day? Explain the differ-
ence in the unit-cost figures.
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2-22 (Classification of costs, service sector. Consumer Focus is a marketing re-

search firm that organizes focus groups for consumer product companies.
Each focus group has eight individuals who are paid $50 per session to pro-
vide comments on new products. These focus groups meet in hotels and are
led by a trained independent marketing specialist hired by Consumer Focus.
Each specialist is paid a fixed retainer to conduct a minimum number of ses-
sions and a per-session fee of $2,000. A Consumer Focus staff member at-
tends each session to ensure that all the logistical aspects run smoothly.

EQUIRED
>, - L]
Classify each of the following cost items as:
a. Direct or indirect (D or I) costs with respect to each individual focus group.
b. Variable or fixed (V or F) costs with respect to how the total costs of Con-

sumer Focus change as the number of focus groups changes. (If in doubt,
select the cost type on the basis of whether the total costs will change

substantially if a large number of groups are conducted.)

ou will have two answers (D or I; V or F) for each of the following items:

Cost Item

Dorl VorF

H.

Payment to individuals in each focus group to provide comments on
new products

Annual su bscripri on of Consumer Focus to Consumer Reports maga-
zZine

Phone calls made by Consumer Focus staff member to confirm indi-
viduals will attend a focus group session (Records of individual calls
are not kept.)

. Retainer paid to focus group leader to conduct 20 focus groups per

year on new medical products
Hotel meals provided to participants in each focus group

Lease payment by Consumer Focus for corporate office

. Cost of rapes used to record comments made by individuals 1n a focus
Cost of tapes used | ts made by individuals in a f

group session (These tapes are sent to the company whose products
are being tested.)

Gasoline costs of Consumer Focus staff for company-owned vehicles

(Staff members submit monthly bills with no mileage breakdowns.)

2-23 Classification of costs, merchandising sector. Home Entertainment Cen-

ter (HEC) operates a large store in San Francisco. The store has both a video
section and a musical (compact disks, records, and tapes) section. HEC re-
ports revenues for the video section separately from the musical section.

REQUIRED
Classify each of the following cost items as:

a. Direct or indirect (D or I) costs with respect to the video section.

b. Variable or fixed (V or F) costs with respect to how the total costs of the
video section change as the number of videos sold changes. (If in doubt,
select the cost type on the basis of whether the total costs will change

substantially if a large number of videos are sold.)

You will have two answers (D or I; V or F) for each of the following items:

Cost Item

Dorl VorF

A
B.

E:
D.

E.

Annual retainer paid to a video distributor

Electricity costs of HEC store (single bill covers entire store)
Costs of videos purchased for sale to customers

Subseription to Fideo Trends magazine

Leasing of computer software used for financial budgeting at HEC
store

Cost of popcorn provided free to all customers of HEC

r. Earthquake insurance policy for HEC store

H:

Freight-in costs of videos purchased by HEC
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2-24 Classification of costs, manufacturing sector. The Fremont, California,

plant of NUMMI (New United Motor Manufacturing, Inc.), a joint venture

of General Motors and Toyota, assembles two types of cars (Corollas and

Geo Prisms). Separate assembly lines are used for each type of car.

REQUIRED

Classify each of the following cost items as:

a. Direct or indirect (D or I) costs with respect to the type of car assembled
(Corolla or Geo Prism).

b. Variable or fixed (V or F) costs with respect to how the total costs of the
plant change as the number of cars assembled changes. (It in doubt, select
the cost type on the basis of whether the total costs will change substan-
dally it a large number of cars are assembled.)

You will have two answers (D or I; V or F) for each of the following items:

Cost Item Dorl VorF

gl BN -

Cost of tires used on Geo Prisms

Salary of public relations manager for NUMMI plant

Annual awards dinner for Corolla suppliers

. Salary of engineer who monitors design changes on Geo Prism

Freight costs of Corolla engines shipped from Toyota City, Japan, to

Fremont, California

o =

Electricity costs for NUMMI plant (single bill covers entire plant)

Wages paid to temporary assembly-line workers hired in periods of

high production (paid on an hourly basis)
H. Annual fire insurance policy cost for NUMMI plant

2-25 Capitalized or Noncapitalized costs. Consider the following ten cost

2-26

items, three pertaining to the service sector, three to merchandising, and
four to manufacturing.

SERVICE (ACCOUNTING FIRM)

1. $200,000—cost of computers purchased
2. $47,560—cost of monthly rental for offices
3. $148,386—wages of secretaries

MERCHANDISING (HOME FURNISHING RETAIL STORE)
4. $6,854—cost of bonuses to salespeople

5. $146,540—cost of merchandise purchased for resale
6. $3,470—electricity cost for showroom lighting

MANUFACTURING (STEEL COMPANY)

7. $14,674,080—cost of new blast furnace
8. $641,030—wages of production workers in steel plant
9. $1,246,031—cost of coal to be used as material input in the manufac-
ture of steel
10. $460,174—-cost of vehicles purchased for salespeople
REQUIRED
L. Classity each of the ten items as a capitalized or a noncapitalized cost for
balance sheet and income statement reporting purposes.
2. For each capitalized cost item in requirement 1, explain why it is either a
capitalized inventoriable cost or a capitalized noninventoriable cost.
Computing cost of goods manufactured and cost of goods sold. Com-
pute cost of goods manufactured and cost of goods sold from the following
account balances relating to 19_7 (in thousands):

Property tax on plant building $ 3,000
Marketing, distribution, and customer-service costs 317.000
Finished goods inventory, January 1, 19_7 27,000
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Plant utilities 17,000

Work in process inventory, December 31, 19_7 26,000
Depreciation of plant building 9,000
General and administrative costs (nonplant) 43,000
Direct materials used 87,000
Fimished goods inventory, December 31, 19_7 34.000
Depreciation of plant equipment 11,000
Plant repairs and maintenance 16,000
Work in process inventary, January 1, 19_7 20,000
Direct manufacturing labor 34,000
Indirect manufacturing labor 23,000
Indirect materials used 11,000
Miscellaneous plant overhead 4,000

2-27 Classification of costs, prime and conversion costs. Tanaka Metal Prod-

ucts reports the following components in its manufacturing costs for April
19_7 (in thousands):

Direct costs:

Direct materials ¥430

Direct manufacturing labor salaries 110

Subcontracting 120 ¥ 660
Manufacturing overhead:

Fringe benefits on direct manufacturing labor 40

Production setup 60

Other manufacturing overhead 240 340

¥ 1,000

Subcontracting costs are treated as a direct-cost item separate from direct materials.

REQUIRED

1. Compute (a) the prime costs and (b) the conversion costs of Tanaka
Metal Products using the cost classifications described above.

2. Assume now that Tanaka changes the classification of two items—both
fringe benefits on direct manufacturing labor and production setups will
now be classified as direct costs. Compute (a) the prime costs and (b) the
conversion costs of Tanaka after this change in cost classification, and
comment on the results.

3. What information might Tanaka use to change the two items in require-
ment 2 to be direct-cost items rather than manufacturing overhead cost
1items?

PROBLEMS

H 2-28 Cost of goods manufactured. Consider the following account balances (in
thousands) for the Canseco Company:

Beginning of End of
19 7 19 7

Direct maternials inventory $22,000 $26,000
Work in process inventory 21,000 20,000
Finished goods inventory 18,000 23,000
Purchases of direct materials 75,000
Direct manufacturing labor 25,000
Indirect manufacturing labor 15,000
Plant insurance 9.000
Depreciation—plant building and equipment 11,000
Repairs and maintenance—plant 4.000
Marketing, distribution, and customer-service costs 93,000
General and administrative costs 29,000
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REQUIRED

1.
2.

Prepare a schedule of cost of goods manufactured for 19_7.
Revenues in 19_7 were $300 million. Prepare the 19_7 income state-

ment.

2-29 Income statement and schedule of cost of goods manufactured. The
Howell Corporation has the following account balances (in millions):

For Specific Date For Year 19 _7

Direct materials, January 1, 19_7 $15 Purchases of direct materials $325
Work in process, January 1, 19_7 10 Direct manufacturing labor 100

Finished goods, January 1, 19_7 70 Depreciation—plant building and
Direct materials, December 31, 19_7 20 equipment 80
Work in process, December 31, 19_7 5 Plant supervisory salaries )
Finished goods, December 31, 19_7 55 Miscellaneous plant overhead 33
" Revenues 950

© Marketing, distribution, and

Customer-service costs 240
Plant supplies used 10
Plant utilities 30
Indirect manufacturing labor 60

REQUIRED
Prepare an income statement and a supporting schedule of cost of goods
manufactured for the year ended December 31, 19_7. (For additional ques-
tions regarding these facts, see the next problem.)

2-30 Interpretation of statements (continuation of 2-29). Refer to the pre-
ceding problem.

REQUIRED

1.

2.

6.

How would the answer to the preceding problem be modified if you were
asked for a schedule of cost of goods manufactured and sold instead of a
schedule of cost of goods manufactured? Be specific.

Would the sales manager’s salary (included in marketing, distribution,
and customer-service costs) be accounted for differently if the Howell
Corporation were a merchandising company instead of a manufacturing
company? Using the flow of costs outlined in Exhibit 2-10, describe how
the wages of an assembler in the plant would be accounted for in this
manufacturing company.

Plant supervisory salaries are usually regarded as indirect manufacturing
costs. Under what conditions might some of these costs be regarded as
direct manufacturing costs? Give an example.

Suppose that both the direct materials used and the plant depreciation
were related to the manufacture of 1 million units of product. What is
the unit cost for the direct materials assigned to those units? What is the
unit cost for plant building and equipment depreciation? Assume that
yearly plant depreciation is computed on a straight-line basis.

. Assume that the implied cost behavior patterns in requirement 4 per-

sist. T'hat is, direct materials costs behave as a variable cost and depre-
ciation behaves as a fixed cost. Repeat the computations in require-
ment 4, assuming that the costs are being predicted for the
manufacture of 1.2 million units of product. How would the total costs
be affected?

As a management accountant, explain concisely to the president why the
unit costs differed in requirements 4 and 5.

2-31 Income statement and schedule of cost of goods manufactured. The
following items (in millions) pertain to the Chan Corporation:
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For Specific Date For Year 19 _7

Work in process, January 1, 19_7 S$10 Plant uulities § 53
Direct materials, December 31, 19_7 5 Indirect manufacturing labor 20
Finished goods, December 31, 19_7 12 Depreciation—plant, building,
Accounts payable, December 31, 19_7 20 and equipment 9
Accounts receivable, January 1, 19 7 50 Revenues 350
Work in process, December 31, 19_7 2 Miscellaneous manufacturing
o _ overhead 10
Finished goods, January 1, 19_7 40 j o -
: . Marketing, distribution, and
Accounts receivable, customer-service costs 90
December 31, 19 7 30 p h f;d' e |
= urchases of direct materials 80
Accounts payable, January 1, 19_7 40 1 _
, : = Direct manufacturing labor 40
Direct materials, January 1, 19 _7 30 _ =
Plant supplies used 6
Property taxes on plant 1

Chan’s manufacturing cost system uses a three-part classification of direct
materials, direct manufacturing labor, and indirect manufacturing costs.
REQUIRED

Prepare an income statement and a supporting schedule of cost of goods
manufactured. (For additional questions regarding these facts, see the next
problem.)

2-32 Interpretation of statements (continuation of 2-31). Refer to the pre-
ceding problem.

REQUIRED

1. How would the answer to the preceding problem be modified if you were
asked for a schedule of cost of goods manufactured and sold instead of a
schedule of cost of goods manufactured? Be specific.

2. Would the sales manager’s salary (included in marketing, distribution,
and customer-service costs) be accounted for any differently if the Chan
Corporation were a merchandising company instead of a manufacturing
company: Using the flow of costs outlined in Exhibit 2-10, describe how
the wages of an assembler in the plant would be accounted for in this
manufacturing company.

3. Plant supervisory salaries are usually regarded as indirect manufacturing
costs. Under what conditions might some of these costs be regarded as
direct manufacturing costs? Give an example.

4. Suppose that both the direct materials used and the plant depreciation
were related to the manufacture of 1 million units of product. What is
the unit cost for the direct materials assigned to those units? What is the
unit cost for plant building and equipment depreciation? Assume that
yearly depreciation is computed on a straight-line basis.

5. Assume that the implied cost behavior patterns in requirement 4 persist.
That is, direct materials costs behave as a variable cost and plant depreci-
ation behaves as a fixed cost. Repeat the computations in requirement ,
assuming that the costs are being predicted for the manufacture of 1.5
million units of product. How would the total costs be affected?

6. As a management accountant, explain concisely to the president why the
unit costs differed in requirements 4 and 5.

2-33 Finding unknown balances, merchandising. The following amounts

(in thousands) relate to the income statements of two merchandising com-

panies:
Company M Company N
Operating costs $ A S 383
Cost of goods available for sale 662 1,238
54 CHAPTER 2 (sross margin 256 W
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Company M Company N
Beginning merchandise inventory, January 1, 19_7 B 64
Revenues @ 1,647
Operating income 52 X
Ending merchandise inventory, December 31, 19_7 24 Y
Purchases of merchandise 643 Z
Cost of goods sold D 1,189
REQUIRED

2-34 Finding unknown balances. An auditor for the Internal Revenue Service is
trying to reconstruct some partially destroyed records of two taxpayers. For
each of the cases in the accompanying list, find the unknowns designated by

merchandiser:

a. capitalized inventoriable cost

b. capitalized noninventoriable cost
c. noncapitalized cost

capital letters (figures are assumed to be in thousands).

2-35 Fire loss, computing inventory costs. A distraught employee, Guy Arson,
put a torch to a manufacturing plant on a blustery February 26. The result-
ing blaze completely destroyed the plant and its contents. Fortunately, cer-
tain accounting records were kept in another building. They revealed the
following for the period from January 1, 19_7 to February 26, 19_7:

1. Reconstruct the income statements of the two merchandising companies.
2. Give an example of a cost in each of the following three categories for a

Case 1 Case 2
Accounts receivable, December 31, 19_7 $ 6,000 $ 2,100
Cost of goods sold A 20,000
Accounts payable, January 1, 19_7 3,000 1,700
Accounts payable, December 31, 19_7 1,800 1,500
Finished goods inventory, December 31, 19_7 B 5,300
(Gross margin 11,300 &
Work in process, January 1, 19_7 0 800
Work in process, December 31, 19_7 0 3,000
Finished goods inventory, January 1, 19_7 4 000 4.000
Direct material used 8,000 12,000
Direct manufacturing labor 3,000 5,000
Indirect manufacturing costs 7.000 D
Purchases of direct material 9.000 7,000
Revenues 32,000 31,800
Accounts receivable, January 1, 19_7 2.000 1,400

Direct materials purchased
Work in process, January 1, 19 _7
Direct materials, January 1, 19_7
Finished goods, January 1, 19_7
Indirect manufacturing costs

Revenues

Direct manufacturing labor

Prime costs

Gross margin percentage based on sales

Cost of goods available for sale

$160,000
$ 34,000
$ 16,000
$ 30,000

40% of conversion costs

$500,000

$180,000

$294,000
20%

$450,000
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The loss was fully covered by insurance. The insurance company wants to
know the historical cost of the inventories as one factor considered when ne-
gotiating a settlement.
REQUIRED
Calculate the cost of
1. finished goods inventory, February 26, 19_7
2. work-in-process inventory, February 26, 19_7
3. direct materials inventory, February 26, 19_7

2-36 Comprehensive problem an unit costs, product costs. Tampa Office
Equipment nmnufactur&s and sells metal shelving. It began operations on
January 1. 19_7. Costs incurred for 19_7 (V stands for variable; F stands for
fixed) are as &)Iltm s:

Direct matenals used costs $140,000 V
Direcr manufacturing labor costs 30,000 V
Plant energy costs 5,000 V
Indirect manufacturing labor costs 10,000 V
Indirect manufacturing labor costs 16,000 F
Other indirect manufacturing costs 8,000 V
Other indirect manufacturing costs 24,000 F
Marketng, distribution, and customer-service costs 122,850V
Markeung, distribution, and customer-service costs 40,000 F
Administrative costs 50,000 F

Variable manufacturing costs are variable with respect to units produced.
Variable marketing, distribution, and customer-service costs are variable
with respect to units sold.

Inventory data are as follows:

Beginning, Ending,
January 1, 19 7 December 31,19 7
Direct materials 0 pounds 2,000 pounds
Work in process () units 0 units
Finished goods () units 2 units

Production in 19_7 was 100,000 units. Two pounds of direct materials are
used to make one unit of finished product.

Revenues in 19_7 were $436,800. The selling price per unit and the
purchase price per pound of direct materials were stable throughout the
year. The company’s ending inventory of finished goods is carried at the av-
erage unit manufacturing costs for 19_7. Finished goods inventory, at De-
cember 31, 19 7, was $20,970.

REQUIRED

1. Direct materials inventory, total cost, December 31, 19_7
2. Finished goods inventory, total units, December 31, 19_7.
3. Selling price per unit. 19_7.

2 ()ptrdt.lng income, 19 _7. Show your computations.

2-37 Budgeted income statement (continuation of 2-36). Assume manage-
ment predicts that the selling price per unit and variable cost per unit will be
the same in 19_8 as in 19_7. Fixed manufacturing costs and marketing, dis-
tribution, and customer-service costs in 19 _8 are also predicted to be the
same as in 19 7. Sales in 19 _8 are forecast to be 122,000 units. The desired
ending inventory of finished goods, December 31, 19_8, is 12,000 units. As-
sume zero ending inventories of both direct materials and work in process.
The company’s umimﬂ inventory of finished goods 1s carried at the average
unit manufacturing costs for 19_8. The company uses the first-in, first-out
INVentory method. Management has asked that you prepare a budgeted in-
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REQUIRED

1. Units of finished goods produced in 19_8.

2. Budgeted income statement for 19_8.

Revenue and cost recording and classifications, ethics. Country Outfit-
ters (C.O.) designs and markets jeans to many retailers and distributors
around the globe. Its corporate headquarters is in Los Angeles, California.

Manufacturing is done by a subcontractor (Jeans West) on the island state of

Caribe. The Caribe government grants locally owned companies a 20% in-
come tax rebate if the ratio of their domestic labor costs to total costs ex-
ceeds 25%. Domestic labor costs are defined as the employment costs of all
employees who are citizens of Caribe. Nicola Roberts, the newly appointed
controller of C.O., has recently been examining payments made to Jeans
West. She observes that Jeans West purchases denim from C.O. ($3 million
in 19_7). C.O. paid Jeans West $12 million for the jeans manufactured in
Caribe in 19_7. Based on her industry experience, the $12 million amount is
very low. She was told it was “a great deal” for C.O. There is also a sizable
payment by C.O. to the Swiss subsidiary of Jeans West (§4.8 million in
19_7). Roberts is told by the Jeans West president that this payment is for
fabric design work that Jeans West does with C.O. C.O. has included the
$4.8 million payments in its own product design cost. The director of prod-
uct design at C.O. told Roberts it is an “off-statement” item that historically
he has no responsibility for nor any say about. To his knowledge, Jeans West
uses only C.O. designs with either zero or minimal changes.

Jeans West’s domestic labor costs in 19_7 were $3.6 million while its
total costs were $10 million. Included in this $3.6 million was $1.3 million
for labor fringe benefits (for health insurance, etc.). A component of this
$1.3 million 1s $600,000 for life insurance for Jeans West’s executives. C.O.
helped arrange this life insurance policy. It negotiated with the insurance
company managing its own executive life insurance plans to include the
Jeans West executives at rates much more favorable than those available in

Caribe.

REQUIRED

1. What concerns should Roberts have about the revenue and cost numbers
in C.0.% financial reports?

2. Which (if any) of the concerns in requirement | raise ethical issues for
Roberts? Explain.

3. What steps should Roberts take to address the ethical issues you identify
in requirement 2?

COLLABORATIVE LEARNING PROBLEM
2-39 Defining cost terms. You are the controller of the Heinz potato processing

subsidiary in Ireland. This subsidiary processes potatoes for frozen dinners,
fast-food restaurants, and other large institutional buyers. Assume that com-
panies setting up manufacturing facilities in Ireland receive an income tax
rebate -::quwa[em to the ratio of employment costs of Irish citizens to total
manufacturing costs in Ireland. Thus, if the Irish subsidiary has a “pre-
rebate” tax bill of $10 million and the ratio of employment costs to total
manufacturing costs is 22%, its actual tax bill will be reduced by $2.2 million
to $7.8 mullion.

INSTRUCTIO
Form groups of two or more students to complete the following require-
ment.

REQUIRED

Develop guidelines as to how Heinz should define costs at its Irish sub-
sidiary. Assume one aim is to minimize the income taxes that Heinz is legiti-
mately required to pay to the Irish government.
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COST-VOLUME-PROFIT
RELATIONSHIPS

The growing complexity and so-
phistication of medical testing

LEARNING OBJECTIVES

equipment is increasing the ratio of After studying this chapter, you should be able to
ﬁxed.t,usts to 1utal. costs in many |. Distinguish between the general case and a special case
hospitals. Magnetic resonance of CVP

imaging (MRI) equipment enables 2. Explain the relationship between operating income and

hospitals to produce high quality
images without exposing patients 3 3. crihe the assumptions underlying CVP
to ionizing radiation. Obtaining 4
high utilization for this expensive
f:qm.pr.'n.en't B Essentm! for hospitals 5. Explain how sensitivity analysis can help managers cope
justifying investment in MRI tech- '

nology.

net income

Demonstrate three methods for determining the
breakeven point and target operating income

with unc L'I'1Jﬂ1lj~.
6. Hlustrate how CVP can assist cost planning
Ut.‘ﬁt.'l'i'rt_' |i]l_' t'r-l-t"l.'[ r_rf- revenue mix on fi]lL']'.l”Ii!.' [TTCOTTT

8. Tlustrate how CVP can i orporate mncome taxes
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3-12 Give an example of how a manager can increase variable costs while decreas-
ing fixed costs.

3-13 “There is no such thing as a fixed cost. All costs can be ‘unfixed’ given suffi-
cient time.” Do you agree? What is the implication of your answer for CVP
analysis?

3-14 How can a company with multiple products compute its breakeven point?

3-15 How does an increase in the income tax rate affect the breakeven point?

EXERCISES

3-16 CVP computations. In the following data, fill in the blanks for each of the
four independent cases.

Variable Fixed Total Operating Contribution
Case Revenues Costs  Costs Costs  Income  Margin Percentage

a $ — $500 $ — § 800 $1,200 =
b 2,000 = 300 — 200 —
C 1,000 700 — 1,000 — —
d 1,500 — 300 — — 40%

3-17 CVP computations. Fill in the blanks for each of the following indepen-
dent cases.

Variable
Costs Total Total Total
Selling Per Units Contribution Fixed Operating
Case Price Unit Sold Margin Costs Income
a $30 $20 70,000 $— $ —$15,0U{_)
b 25 20 180,000 900,000 800,000 ST
¢ 2 10 150,000 300,000 220,000 el
d 20 14 = 120,000 = 12,000

3-18 CVP, changing revenues and costs. Sunshine Tours is a travel agency
specializing in flights between Toronto and Jamaica. It books passengers on
Canadian Air. Canadian Air charges passengers $1,000 per round-trip ticket.
Sunshine receives a commission of 8% of the ticket price paid by the passen-
ger. Sunshine’s fixed costs are $22,000 per month. Its variable costs are $35
per ticket, including an $18 delivery fee by Emory Express. (Assume each
ticket purchased is delivered in a separate package; thus the delivery fee ap-
plies to every individual ticket.)

REQUIRED

1. What is the number of tickets Sunshine must sell each month to (a)
breakeven, and (b) make a target operating income of $10,000?

2. Assume TNT Express offers to charge Sunshine only $12 per ticket de-
livered. How would accepting this offer affect your answers to (a) and (b)
in requirement |?

3-19 CVP, changing revenues and costs (continuation of 3-18). Canadian
Air changes its commission structure to travel agents. Up to a ticket price of
$600, the 8% commission applies. For tickets costing $600 or more, there is
a fixed commission of $48. Assume Sunshine Tours has fixed costs of
$22,000 per month and variable costs of $29 per ticket (including a $12 de-
livery fee by TNT).

REQUIRED

1. What is the number of Toronto-to-Jamaica round-trip tickets Sunshine
must sell each month to (a) breakeven, and (b) make a target operating

80 | chapters income of $10,000? Comment on the results.
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2. Sunshine tours decides to charge its customers a delivery fee of $5 per
ticket. How would this change affect your answers to (a) and (b) in re-
quirement 1? Comment on the results.

CVP exercises. The Super Donut owns and operates six donut outlets in

and around Kansas City. You are given the following corporate budget data

for next year:

Revenues $10.000,000
Fixed costs 1,700,000
Variable costs 8,200,000

Variable costs change with respect to the number of donuts sold.
REQUIRED

Compute the budgeted operating income for each of the following devia-
tions from the original budget data. (Consider each case independently.)
1. A 10% increase in contribution margin, holding revenues constant

. A 10% decrease in contribution margin, holding revenues constant

. A 5% increase in fixed costs

. A 5% decrease in fixed costs

. An 8% increase in units sold

. An 8% decrease in units sold

. A 10% increase in fixed costs and 10% increase in units sold

8. A 5% increase in fixed costs and 5% decrease in variable costs

CVP exercises. The Doral Company manufactures and sells pens. Present
sales output is 5,000,000 units per year at a selling price of $0.50 per unit.
Fixed costs are $900,000 per year. Variable costs are $0.30 per unit.
REQUIRED
(Consider each case separately.)
1. a. What is the present operating income for a year?
b. What is the present breakeven point in revenues?
Compute the new operating income for each of the following changes:
2. A 50.04 per unit increase in variable costs
3. A 10% increase in fixed costs and a 10% increase in units sold
4. A 20% decrease in fixed costs, a 20% decrease in selling price, a 10% de-
crease in variable costs per unit, and a 40% increase in units sold
Compute the new breakeven point in units for each of the following
changes:
5. A 10% increase in fixed costs
6. A 10% increase in selling price and a $20,000 increase in fixed costs

SO

CVP, changing cost inputs. Maria Montez is planning to sell a vegetable

slicer-dicer for $15 per unit at a county fair. She purchases units from a local

distributor for $6 each. She can return any unsold units for a full refund.

Fixed costs for booth rental, setup, and cleaning are $450.

REQUIRED

1. Compute the breakeven point in units sold.

2. Suppose the unit purchase cost is $5 instead of $6, but the selling price is
unchanged. Compute the new breakeven point in units sold.

CVP, margin of safety. Suppose Lattin Corp’s breakeven point is revenues

of $1,000,000. Fixed costs are $400,000.

REOUIRED

1. Compute the contribution margin percentage.

2. Compute the selling price if variable costs are $12 per unit.

3. Suppose 80,000 units are sold. Compute the margin of safety.

CVP, international cost structure differences. Knitwear, Inc., is consid-

ering three countries for the sole manufacturing site of its new sweater

Singapore, Thailand, and the United States. All sweaters are to be sold to re-

tail outlets in the United States at $32 per unit. These retail outlets add their

RELATIONSHIPS
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own markup when selling to final customers. The three countries differ in
their fixed costs and variable costs per sweater.

Variable
Variable Marketing and

Annual Manufacturing Distribution
Fixed Costs Costs

Costs Per Sweater Per Sweater
Singapore $ 6.5 million $ 8.00 $11.00
Thailand 4.5 miMion 5.50 11.50
United States 12.0 milhon 13.00 9.00

REQUIRED

1. Compute the breakeven point of Knitwear, Inc., in both (a) units sold,
and (b) revenues for each of the three countries considered for manufac-
turing the sweaters.

2. If Knitwear, Inc., sells 800,000 sweaters in 19_4, what is the budgeted op-
erating income for each of the three countries considered for manufac-
turing the sweaters? Comment on the results.

Revenue mix, new and upgrade customers. Zapo 1-2-3 is a top-selling
spreadsheet product. Zapo is about to release version 5.0. It groups its cus-
tomers into two groups—new customers and upgrade customers (those who
previously purchased Zapo 1-2-3 4.0 or earlier versions). Although the same
physical product is provided to each customer group, sizable differences
exist in their selling prices and variable marketing costs:

New Upgrade
Customers Customers
Selling price §210 $120
Variable cost
Manufacturing $25 $25
Marketing 65 90 15 40

The fixed costs of Zapo 5.0 are $14,000,000.
The planned revenue mix in units is 60% new customers and 40% up-
grade customers.
REQUIRED
1. What is the Zapo 1-2-3 5.0 breakeven point in units, assuming that the
planned 60%/40% mix is maintained?
2. If the mix is maintained, what is the operating income when 200,000
units are sold?
3. Show how the breakeven point in units changes with the following cus-
tomer mixes:
a. New 50%/Upgrade 50%
b. New 90%/Upgrade 10%
Comment on the results.
CVP, income taxes. The Bratz Company has fixed costs of $300,000 and a
variable-cost percentage of 80%. The company earns net income of $84,000
in 19 4. The income tax rate is 40%.
1 WITRED
Compute (1) operating income, (2) contribution margin, (3) total revenues,
and (4) breakeven revenues.
CVP, income taxes. The Rapid Meal has two restaurants that are open 24
hours a day. Fixed costs for the two restaurants together total $450,000 per
year. Service varies from a cup of coffee to full meals. The average sales
check for each customer is $8.00. The average cost of food and other vari-
able costs for each customer is $3.20. The income tax rate is 30%. Target net
income 1s $105,000.
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REQUIRED

1. Compute the revenues needed to obtain the target net income.

2. How many sales checks are needed to earn net income of $105,000? To
breakeven?

3. Compute net income if the number of sales checks is 150,000.

3-28 Appendix, uncertainty, CVP. Angela King is the Las Vegas promoter for
Mike Foreman. King is promoting a new world championship fight for
Foreman. The key area of uncertainty is the size of the cable pay-per-view
TV market. King will pay Foreman a fixed fee of $2 million and 25% of net
cable pay-per-view revenue. Every cable TV home receiving the event pays
$29.95, of which King receives $16. King pays Foreman 25% of the $16.

King estimates the following probability distribution for homes pur-
chasing the pay-per-view event:

Demand Probability
100,000 0.05
200,000 0.10
300,000 0.30
400,000 0.35
500,000 0.15

1,000,000 0.05

REQUIRED

1. What is the expected value of the payment King will make to Foreman?

2. Assume the only uncertainty is over cable TV demand for the fight. King
wants to know the breakeven point given her own fixed costs of $1 mil-
lion and her own variable costs of $2 per home. (Also include King’s pay-
ments to Foreman in your answer).

PROBLEMS

3-29 CVP, executive teaching compensation. Brian Smith is an internationally
known American professor specializing in consumer marketing. In 19_2,
Smith and the United Kingdom Business School (UKBS) agreed to conduct
a one-day seminar at UKBS for marketing executives. Each executive would
pay £260 to attend the one-day seminar. The dean at UKBS indicates to
Smith that the non-speaker related fixed costs for UKBS conducting the
seminar would be

Advertising in magazines £4,000
Mailing of brochures £3.000
Administrative labor at UKBS £2.,000
Charge for UKBS lecture auditorium £1,000

The variable costs to UKBS for each participant attending the seminar
would be

Meals and drinks £25

Binders and photocopying £35

The dean at UKBS initally offered Smith its regular compensation
package of (a) business-class airfare and accommodation (£3,000 maximum)
and (b) a £2,000 lecture fee. Smith would qualify for the £3,000 maximum
allowance. Smith views the £2.000 lecture fee as providing him no upside
potential (that is, no sharing in the potential additional operating income
that arises if the seminar is highly attended). He suggests instead that he

COST-VOLUME-PHROHT
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receive 50% of the operating income to UKBS (if positive) from the one-day

seminar and no other payments. The dean of UKBS quickly agrees to

Smith’s proposal after confirming that Smith is willing to pay his own airfare

and accommodation and deliver the seminar irrespective of the number of

executives signed up to attend.
1. What is UKBS’s breakeven point (in number of executives attending) if
a. Smith accepts the regular compensation package of £3,000 expenses
and a £2,000 lecture fee.

b. Smith receives 50% of the operating income to UKBS (if positive)
from the one-day seminar and no other payments.

Comment on the results for (a) and (b).

2. Smith gave the one-day seminar at UKBS in 19_2 (60 attended), 19_3
(90 attended), and 19_4 (180 attended). How much was Smith paid by
UKBS for the one-day seminar under the 50% of UKBS’ operating in-
come compensation plan in (a) 19_2, (b) 19_3, and (¢) 19_4? (Assume
that the £260 charge per executive attending and UKBS’s fixed and vari-
able costs are the same each year.)

3. After the 19 _4 seminar, the dean at UKBS suggested to Smith that the
50%-50% profit-sharing plan was resulting in Smith getting excessive
compensation in 19_4 and that a more equitable arrangement to UKBS
be used in 19_5. How should Smith respond to this suggestion?

CVP, movie production. Royal Rumble Productions has just finished pro-
duction of Feature Creatures, the latest action film directed by Tony Savage
and starring Ralph Michaels and Sally Martel. The total production cost to
Royal Rumble was $5 million. All the production personnel and actors on
Feature Creatures received a fixed salary (included in the $5 million) and will
have no “residual” (equity interest) in the revenues or operating income
from the movie. Media Productions will handle the marketing of Feature
Creatures. Media agrees to invest a minimum $3 million of its own money in
marketing the movie and will be paid 20% of the revenues Royal Rumble it-
self receives from the box-office receipts. Royal Rumble receives 62.5% of
the total box-office receipts (out of which comes the 20% payment to Media
Productions).
REQUIRED
1. What is the breakeven point to Royal Rumble for Feature Creatures ex-
pressed in terms of (a) revenues received by Royal Rumble, and (b) total
box-office receipts?
2. Assume in its first year of release, the box-office receipts for Feature Crea-
tures total $300 million. What is the operating income to Royal Rumble
from the movie in its first year?

CVP, cost structure differences, movie production (continuation of
3-30). Royal Rumble is negotiating for Feature Creatures 2, a sequel to its
mega-blockbuster Feature Creatures. This negotiation is proving more diffi-
cult than for the original movie. The budgeted production cost (excluding
payments to the director Savage and the stars Michaels and Martel) for Fea-
ture Creatures 2 is $21 million. The agent negotiating for Savage, Michaels,
and Martel proposes either of two contracts:

Contract A: Fixed-salary component of $15 million for Savage, Michaels,
and Martel (combined) with no residual interest in the revenues from Fea-
ture Creatures 2.

Contract B: Fixed-salary component of $3 million for Savage, Micheals, and
Martel (combined) plus a residual of 15% of the revenues Royal Rumble re-
ceives from Feature Creatures 2.

Media Productions will market Feature Creatures 2. It agrees to invest a min-
imum of $10 million of its own money. Because of its major role in the suc-
cess of Feature Creatures, Media Productions will now be paid 25% of the
revenues Royal Rumble receives from the total box-office receipts. Royal
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determine the desirability of opening another store, which is expected to
have the following revenue and cost relationships:

Per Pair

Unit variable data
Selling price $30.00
Cost of shoes $19.50
Sales commissions 1.50
Total vanable costs 21.00

Annual fixed costs
Rent $ 60,000
Salaries 200,000
Advertising 80,000
Other fixed costs 20,000
Total fixed costs $360,000

REQUIRED

(Consider each question independently.)

1. What is the annual breakeven point in (a) units sold, and (b) revenues?

2. If 35,000 units are sold, what will be the store’s operating income (loss)?

3. If sales commissions were discontinued for individual salespeople in favor
of an $81,000 increase in fixed salaries, what would be the annual
breakeven point in (a) units sold, and (b) revenues?

4. Refer to the original data. If the store manager were paid $0.30 per unit
sold in addition to his current fixed salary, what would be the annual
breakeven point in (a) units sold, and (b) revenues?

5. Refer to the original data. If the store manager were paid $0.30 per unit
commission on each unit sold in excess of the breakeven point, what
would be the store’s operating income if 50,000 units were sold? (This
$0.30 is in addition to both the commission paid to the sales staff and the
store manager’s fixed salary.)

CVP, shoe stores. Refer to requirement 3 of 3-34.

REQUIRED

I. Calculate the number of units sold where the operating income under (a)
a fixed-salary plan, and (b) a lower fixed-salary and commission plan (for
salespeople only) would be equal. Above that number of units sold, one
plan would be more profitable than the other; below that number of units
sold, the reverse would occur.

2. Compute the operating income or loss under each plan in requirement 1
at sales levels of (a) 50,000 units, and (b) 60,000 units.

3. Suppose the target operating income is $168,000. How many units must
be sold to reach the target under (a) the fixed-salary plan, and (b) the
lower fixed-salary and commission plan?

Sensitivity and inflation (continuation of 3-35). As president of Walk
Rite, you are concerned that inflation may squeeze your profitability. Specif-
ically, you feel committed to the $30 selling price and fear that diluting the
quality of the shoes in the face of rising costs would be an unwise marketing
move. You expect the cost of shoes to rise by 10% during the coming year.
You are tempted to avoid the cost increase by placing a noncancelable order
with a large supplier that would provide 50,000 units of the specified quality
for each store at $19.50 per unit. (To simplify this analysis, assume that all
stores will face identical demands.) These shoes could be acquired and paid
for as delivered throughout the year. However, all shoes must be delivered to
the stores by the end of the year.
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3. Suppose 200,000 units are sold, but only 20,000 are deluxe. Compute the
operating income. Compute the breakeven point if these relationships
persist in the next period. Compare your answers with the original plans
and the answer in requirement 1. What is the major lesson of this prob-
lem?

3-40 CVP, nonprofit event planning. The American-Canadian Chamber of

3-41

3-42

Commerce is planning its July 4 gala ball. There are two possible plans:

a. Toronto Country Golf Club, which has a fixed rental cost of $2,000 plus a
charge of $80 per person for its own catering of meals and serving of
drinks and hors d’oeuvres.

b. Toronto Town Hall, which has a fixed rental cost of $6,600. The Cham-
ber of Commerce can hire a caterer for meals and waiters and waitresses
to serve drinks and hors d’oeuvres at $60 per person.

The Chamber of Commerce budgets $3,500 in costs for adminis-
tration and marketing. The band will cost a fixed amount of $2,500.
Tickets to this prestige event will be $120 per person. All the drinks
served and the prizes given away at the ball will be donated by corporate
SPONSOTS.

REQUIRED

1. Compute the breakeven point for each plan in terms of tickets sold.

2. Compute the operating income of the ball (a) if 150 people attend, and
(b) if 300 people attend. Comment on your results.

3. At what level of tickets sold will the two plans have the same operating
Incomer

Nonprofit institution. The City of Little Rock, Arkansas, makes a
$400,000 lump-sum budget appropriation to an agency to conduct a coun-
seling program for drug addicts for a year. All of the appropriation is to be
spent. The variable costs for drug prescriptions average $400 per patient per

year. Fixed costs are $150,000.

REQUIRED

1. Compute the number of patients that could be served in a year.

2. Suppose the total budget for the following year is reduced by 10%. Fixed
costs are to remain the same. The same level of service to each patient
will be maintained. Compute the number of patients that could be served
In a year.

3. As in requirement 2, assume a budget reduction of 10%. Fixed costs are
to remain the same. The drug counselor has discretion as to how much in
drug prescriptions to give to each patient. She does not want to reduce
the number of patients served. On the average, what is the cost of drugs
that can be given to each patient? Compute the percentage decline in the
annual average cost of drugs per patient.

CVP, income taxes. (CMA) The R. A. Ro and Company, a manufacturer of

quality handmade walnut bowls, has experienced a steady growth in sales for

the past five years. However, increased competition has led Mr. Ro, the pres-
ident, to believe that an aggressive marketing campaign will be necessary
next year to maintain the company’s present growth.

To prepare for next year’s marketing campaign, the company’s con-
troller has prepared and presented Mr. Ro with the following data for the

current year, 19 _7:

Variable costs (per bowl)
Direet manufacturing labor $ 8.00
Direct matenals 3.25
Variable overhead

(Manufacturing, marketing distribution,
customer service, and administration)
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Total variable costs
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Fixed costs

Manufacturing $ 25,000
Marketing, distribution, and customer service 40,000
Administrative 70,000
Total fixed costs $135,000
Selling price per bowl § 25.00
Expected revenues, 19_7 (20,000 units) $500,000
Income tax rate 0%

REQUIRED

1.
2,
31

5.

6.

What is the projected net income for 19_7?

What is the breakeven point in units for 19_7?

Mr. Ro has set the revenue target for 19_8 at a level of $550,000 (or
22,000 bowls). He believes an additional marketing cost of $11,250 for
advertising in 19 _8, with all other costs remaining constant, will be nec-
essary to attain the revenue target. What will be the net income for 19_8
if the additional $11,250 is spent and the revenue target is met?

. What will be the breakeven point in revenues for 19_8 if the additional

$11,250 is spent for advertising?

If the additional $11,250 is spent for advertising in 19_8, what is the re-
quired 19_8 revenues for 19_8% net income to equal 19_7’s net income?
At a sales level of 22,000 units, what maximum amount can be spent on
advertising if a 19_8 net income of $60,000 1s desired?

Review of Chapters 2 and 3. For each of the following independent cases,
find the unknowns designated by the capital letters.

Case 1 Case 2

Direct materials used $ H $ 40,000
Direct manufacturing labor 30,000 15,000
Variable marketing, distribution,

customer-service, and administrative costs K T
Fixed manufacturing overhead I 20,000
Fixed marketing, distribution,

customer-service, and administrative costs ] 10,000
Gross margin 25,000 20,000
Finished goods inventory, January 1, 19_7 ] 5,000
Finished goods inventory, December 31, 19 _7 () 5,000
Contribution margin (dollars) 30,000 Vv
Revenues 100,000 100,000
Direct materials inventory, January 1, 19 7 12.000 20,000
Direct materials inventory, December 31, 19_7 5,000 W
Variable manufacturing overhead 5,000 X
Work in process, January 1, 19 7 0 9,000
Work in process, December 31, 19_7 0 9.000
Purchases of direct materials 15.000 50,000
Breakeven point (in dollars) 66.667 Y
Cost of goods manufactured G U
Operating income (loss) [ (5,000)

3-44 Appendix, CVP under uncertainty. (J. Patell) In your new position as
supervisor of product introduction, you have to decide on a pricing strategy

for a talking-doll specialty product with the following cost structure:

Variable costs per unit

Fixed costs

$

50

$200.000

COST-VOLUME-PROHFIT
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INSTRUCTIONS

Form groups of two or more students to complete the following require-

ments.

REQUIRED

Your group is charged with exploring ways of improving the profitability of

the venture and of reducing its breakeven point. Areas you should explore

(hul are not restricted to) include the following:
. Increase the number of shows per week. The cast is under contract for up
to eight shows a week for a fixed amount that is included in the $400,000.

b. Provide the two star perfnrmers (the Phantom and Christine) with a
$25,000 weekly salary and a percentage of revenues or operating income
instead of the fixed $50,000 per week each is budgeted to receive.

c. Change the single $75 pricing policy. Whereas all seats in the 2,000-
person auditorium have unobstructed views, a recent theater reviewer re-
ferred to the back rows of the balcony section as “binocular land.”
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COSTING SYSTEMS AND ACTIVITY-
- BASED COSTING (I): SERVICE AND
MERCHANDISING APPLICATIONS

Retail stores are using activity-
based costing to assist in deciding
the square footage to allocate to in-  After studying this chapter, you should be able to
dividual products and product ]
areas. ABC cost data, along with in- 3.
formation on customer-demand 3.
preferences, are enabling many re- 4
tailers to increase the operating in-

LEARNING OB

Describe the building block concept of costing systems
Distinguish between job costing and process costing
Outline a six-step approach to job costing

Distinguish among actual costing, normal costing, and
extended normal costing methods

come of the stores they manage. 5. Explain undercosting and overcosting of products
6. Describe three guidelines for refining a costing system
7. Describe the distinctive feature of ;lctirit'}»'—|:;-m*tf costing
8. Prepare product-line profitability reports for companies

in the merchandising sector
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